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WEST BENGAL STATE UNIVERSITY

B.A. Honours 2nd Semester Examination, 2021

PHIACORO04T-PHILOSOPHY (CC4)
HISTORY OF WESTERN PHILOSOPHY-II

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z FIMo Q"Y/VW fac T
Candidates should answer in their own words AT [NCST ©IRNF TR T AT AT M
and adhere to the word limit as practicable. s R

Answer Question No. 1 and 2 and fwo more questions taking one from each
group (‘A’ & ‘B’)
SR E R e 0 et F ¢ ‘¥ (AF 3T F P =ieat 715 efvs Tea e
1. Answer any five questions from the following: 2x5=10
fasfrie - #pfe et Ted nies
(a) Explain with example the principles of Universal Instantiation (U.L.).
SrizmeTE R RIS s il
(b) What is propositional function? Give example.
BACPFF FICF A0 2 GWIRFS WS |
(c) What is quantifier? What are its types?
AP FICP ACET 2 AP PO AP = ?
(d) (x)~Mx=~(x)~ Mx: Is the sentence true?
(Ax) ~ Mx=~(x)~ Mx : 92 AT & 375 9
(e) What is individual constant?
& & FICS 0 9
(f) Find a normal form equivalent to the following:
i Rfzeia e Fet
~(Ix) [~ (~6x Vv Rx)]
(g) What is truth function?
OCAHP FICP T 2
(h) Distinguish between free variable and bound variable with illustrations.
& alleF @ & aCFA WM& AL 1RETR Fawold Tt
(1) What do you understand by ‘sufficient condition’?
e IS FeT0e & @I 9
(j) Give the form of the joint method of agreement and difference.
o TSGR “fafon S (s |
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Answer the following questions: (any two) 5x2=10
fafefs emefm S nies(@-iel 715)

Explain the limitations of Existential Instantiation. (E.I.) 5
g wEreieae (E.1.) s Sorasief i s @

What is the need for quantification? 5
T eTeare! F 9

Symbolize the following sentences by using quantifiers, variables etc: (any two) 2% x2 =35
frefere A e S, Afeeias 2ejiina AR SRS T (@-IE! 715)
1. A girl will win if and only if she is lucky.
CRICAT] GICR1 1) 209 A =R (e AW (T Sl 2|
ii. Apples and oranges are tasty and good for health.
WA G FAE JHG R FICHR 210F S|

1i1. Socrates is wise.

0N TRl |

Explain and illustrate the product theorem and the addition theorem of calculating 2% x2 =5
probability.

SriReTE TGl 6= @6l € QIR 3@ T T

GROUP-A
eta-F
Construct formal proof of validity of the following: (any three) 5x3 =15
i Fewlr Smmee sl e FEIs (- foi )

(i) Doctors and lawyers are professional people. Professional people and
executives are respected. Therefore, doctors are respected.

TR ¢ WEAGRR Ifead Jfe) e @k Twhomr il IR Foak
eIl [ |

(i) Socrates is mortal. Therefore, everything is either mortal or not mortal.

O SRR | A F2 2 SeAeT ST SeTTeT 73 |
(i) (x)(Gx> Hx)

(x)(IxD~Hx) / -.(x)(IxD~Gx)
(iv) (¥)[(Dxv Lx)>Cx]

(0)[(AxD Ix)

(Fx)(Lx- ~Ix)

(3x)(Dx- Ax) / ~.(Ix)(Cx- Ix)
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Determine the invalidity of the following arguments by the method of truth value  5x3 =15
assignment: (any three)

ST AR 7Rl (e Yfealem sitage emied st (- feafb)

(1) If anything is metallic, then it is breakable. There are breakable ornaments.
Therefore, there are metallic ornaments.

T I 7y 4Igd (oK 20 ©rd ©f O | ©A aEsl Witz | oAk 4IgH (O e
R

(i) No employer who is either inconsiderate or tyrannical can be successful.
Some employers are inconsiderate. There are tyrannical employers.
Therefore, no employer can be successful.

@It el R ofiiss S=@ @bkl Aiwey dre Face o o /g
Rt Sfiass | crmipi fEeRee] Site) FJoak, @i iR e zre
A =T

(i) (x)[Yx> (Tx-Kx)]
(X){KxD[(WxD Xx)v(NxDRx)]}
(X)[Tx D~ (Zx> Nx)]

(Fx)[Yx-(Rx Vv Xx)]
~(3x) (Yx~ Zx)

(1v) (x)(Bx~Cx)

(x) (Dx>~Cx)

= (x)(Dx> Bx)
GROUP-B
etal-2
Explain Copi’s criticisms against Mill’s methods. Are the criticisms justified? 10+5

e “mfoaler [wet@ Copi @ AMCEAGA FCACRA ©f I I FACEABANfT G
fo1e ¢

Calculate the probability of the following events: (any three) 5x3=15
e woarefem serret fdt Fi: (-t feafB)

(1) What is the probability of getting at least one and at most one head in tossing
three coins?

foaG sl =1 0 SoS IFIF IR SART GFA (28 2/ AGRA] T© 9

(i) What is the probability of getting either a 3 or a 5 or a 6 from a single rolling
of a dice?

@36 LR Y @ 7 et 0, ¢ T[T Y AT AGRE| F© ?
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(i) What is the probability of getting at least one non-ace in four successive

(iv)

N.B.:

draws of card from a standard pack of cards if the card drawn once is
replaced before the next draw?

G5 SN SIS (RF 991 BB ©F Bidce] S9ws «F6! S-GF! e
TS T I GFAT (ST O RS (ST ST 2T (FI© ST T 2

An urn contains 27 white balls and 40 black balls. What is the probability of
getting four black balls in four successive drawings?

(a) Ifeach ball is replaced?
(b) Ifthe balls are not replaced?

@ #N@e Ty x4 16 A 767 G2k 8016 FiceN I&1 wNeR) #7217 815 1 e feiteT 810
A2 FIEN 28T TSRS F© 9 IW

(F) afoai7 I Gt W[ @ (e 2|

(¥) @17 7o 9t F@I(B A1 1 23

Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.




